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Cigarette advertising is a popular topic for discussion, as an increasing number of people believe that it
should be banned (запрещено). I support this view for a  (1)  ... of reasons. In the first place, cigarette
advertising should be stopped because an (2)  ..., harmful product is being promoted. Another major reason
for banning cigarette advertising is the fact that it targets young people. They become attracted to the
glamorous  (3)  ... of smoking, which leads to them taking up the habit. The average teenager does not
consider the harmful effects of smoking or the fact that Smoking is (4) ... .

Прочитайте текст. Выберите подходящее по смыслу слово из предложенных. B ответ запишите
слово в той форме, в которой оно должно стоять в предложении. Помните, что каждое слово может
быть использовано только один раз и что заданную форму слова необходимо изменить. Заполните
пропуск (1).
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